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Group 1
Indicate for each of the following accounts whether the account is a nominal or real account.  On your answer sheet write R if the account is a real account; write N if the account is a nominal account.

1. Uncollectible Accounts Expense


10. Land

2. Depreciation Expense




11. Cash

3. a partner’s drawing account



12. Sales Tax Payable

4. Property Taxes Payable




13. Gain on Plant Assets

5. Merchandise Inventory




14. Transportation In

6. Loss on Plant Assets





15. Prepaid Insurance

7. Property Tax Expense




16. Bad Debts Expense

8. Allowance for Uncollectible Accounts

17. Accumulated Depreciation--Building

9. Purchases Discounts
Group 2

Write the identifying letter of the following account title that best fulfills each accounting entry in items 18 through 25.

	A
	Cash in Bank
	
	E
	Accounts Payable

	B
	Petty Cash
	
	F
	Purchases

	C
	Accounts Receivable
	
	G
	Cost of Merchandise Sold

	D
	Merchandise Inventory
	
	H
	Sales


Answer items 18 through 21 assuming the company policy is to use the periodic inventory method.
	
	Debit
	Credit

	Purchased merchandise for resale on account
	#18
	#19

	Sold merchandise to a customer on account
	#20
	#21


Answer items 22 through 25 assuming the company policy is to use the perpetual inventory method.

	
	Debit
	Credit

	Purchased merchandise for resale on account
	#22
	XXX

	
	
	

	Sold merchandise to a customer on account (selling price)
	XXX
	#23

	Same sales entry as preceding (cost portion of transaction)
	*#24
	*#25


Group 3

Use the following information for question 26.  Write the identifying letter of the correct amount on your answer sheet.

Payroll tax expense per employee is based on the following:

	Social Security
	6.2% on gross earnings up to $102,000

	Medicare
	1.45% on all earnings

	Federal Unemployment Tax
	.8% on first $7,000 of gross earnings

	State Unemployment Tax
	.25% on first $9,000 of gross earnings

	Federal Income Tax
	Disregard


The applicable employer matching taxes are at the same rate as the employee rate.  

The earnings for the calendar year 2008 for the employees of Healthy You Fitness Center are as follows:

	Employee
	Cumulative

Earnings

	Michele Grayson
	110,000

	Terri Browning
	101,000

	Sam Blackburn
	9,200

	Blaine Whiteson
	8,760

	Darlene Redding
	6,820

	Sara Greenway
	6,440


* 26. What is the total amount of payroll tax expense incurred by the employer?


A. $18,467.06

E. $18,982.46


B. $18,486.46

F. $19,589.41


C. $18,504.83

G. $21,073.14


D. $18,529.14

H. $30,618.91

Group 4

Information related to Martin Co. for 2008 before adjusting entries is summarized below:

	
	

	 Net Cash Sales
	362,400

	Net Charge Sales
	82,400

	Accounts Receivable on 12-31-08
	46,250

	Bad debts written off in 2008
	2,436

	
	


For questions 27 through 31, write the correct amount on your answer sheet.  Each question is independent from the others unless noted otherwise.

27. Assume that Martin Co. uses the allowance method of accounting for uncollectible 

 
accounts.  The company estimates that uncollectible accounts will be 1.75% of 


net charge sales.  What amount of bad debts expense will Martin Co. record if 


Allowance for Uncollectible Accounts has a credit balance of $315 before the 

      adjusting entry?

 * 28. Assume the same facts as in question #27, what is the book value of accounts


receivable after all adjusting entries are posted?

29. Assume that Martin Co. uses the allowance method of accounting for uncollectible 


accounts.  The company prepares an aging of accounts receivable on 12-31-08 and 


determines that $1,885 of its accounts receivable will be uncollectible.  What 
amount of bad debts expense will Martin Co. record for 2008 if Allowance for 


Uncollectible Accounts has a credit balance of $315 before the adjusting entry?

* 30. Assume the same facts as in #29, except that there is a $263 debit balance in 


Allowance for Uncollectible Accounts before the adjusting entry because more


accounts were written off in 2008 than had been estimated the previous year.  What 


amount of bad debts expense will Martin Co. record?

31. What amount of bad debts expense will Martin Co. report for 2008 if it uses the 


direct write-off method of accounting for bad debts?

Group 5

Use the following information to answer questions 32 through 42.  Write the correct amount on your answer sheet.  If rounding is necessary, round to the nearest cent.  The company’s fiscal year end is December 31.  This is the only asset owned by the company.

	Plant asset:  EQUIPMENT

Original cost:  $45,000

Estimated Salvage value:  $3,900

Purchased on 01-01-08

Estimated Useful life:  5 years



	
	Straight-Line

 Method
	Double Declining-Balance Method

	YEAR
	Beg. Book Value
	Annual

Depr.
	Ending Book Value
	Beg. Book Value
	Annual Depr.
	Ending Book Value

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	


Answer questions 32 through 37 based on the usage of the double declining-balance method.

32. What amount is debited to Depreciation Expense in 2008?

33. What is the balance of Accumulated Depreciation—Equipment on 01-01-11?

34. What is the book value on 01-01-10?

35. What is the book value on 01-01-12?

* 36. What amount is debited to Depreciation Expense in 2012?

* 37. If the equipment is sold on 06-01-13 for $4,500, what amount would be debited to

     Accumulated Depreciation—Equipment? 

Answer questions 38 and 39 based on the usage of the straight line method.

38. What amount is debited to Depreciation Expense in 2008?

* 39. What is the book value on 01-01-12?

Answer questions 40 through 42 based on the usage of the straight line method and that the equipment was purchased on August 5, 2008.

40. What amount is debited to Depreciation Expense in 2008?

41. What amount is debited to Depreciation Expense in 2012?

* 42. What amount is debited to Depreciation expense in 2013?

Group 6

A Texas-based company called Davis Packaging manufactures boxes for various cereal products.  Davis purchased a used machine from another packaging company in Detroit Michigan.  This machine will enable them to streamline the imprinting and folding portion of the box-making process.  It was purchased on March 1, 2008 for $865,000.

The machine’s technology is actually three years old, and the market value in 2005 was $1,550,000.

Davis considered purchasing a different used machine located in Dallas Texas in order to save on delivery costs.  The Dallas machine price was $1,000,000.  Davis also looked at purchasing a new machine direct from the machine’s manufacturer in Oklahoma City at a cost of $1,939,850.

Even though Davis purchased this used machine from a company in Michigan, Davis was required to pay the state of Texas 8% in sales tax in the amount of $69,200.  This is because the Detroit company also had operations in Texas.  The state of Texas only requires sales tax to be paid on the actual price paid to the seller of the asset.

Davis was required to pay $5,750 to have the machine transported to Texas.

Upon arrival a specialized crew from Installers, Inc. had to be contracted to install the new machine and test the operational components.  Davis paid Installers, Inc.  $12,910.  Also, Davis paid $15,000 to Skyline Rentals, Inc. to rent a crane to lift the machine into the proper position.

The county and city where Davis Packaging is located assessed the value of the used machine for property tax purposes to be $925,000.

The machine was fully operational by April 6, 2008.  Davis estimates the useful life of the asset to be 15 years.  The estimated value of the machine at its replacement time is determined by Davis to be $150,000.

Davis uses the straight-line method for depreciation of machinery.  It is company policy to prepare adjusting entries only at the end of the fiscal year, which is December 31.

For question #43, write the correct amount on your answer sheet.

43. In order to comply with the Historical Cost principle, what is the total amount that 

      should be debited to the plant asset account called Machinery?

Group 7

Snoopy, Sneezy, and Dumbo decided to form a partnership.  The partners plan to invest the following assets in the business:

	
	Snoopy
	Sneezy
	Dumbo

	Cash
	50,000
	  6,000
	 15,000

	Supplies
	  5,000
	  8,000
	   3,000

	Equipment
	15,000
	
	105,000

	Furniture
	30,000
	
	 20,000

	Delivery Van
	15,000
	
	 18,000

	Building
	
	110,000
	

	Land
	
	  60,000
	


For questions 44 through 46, write the correct amount on your answer sheet.  Consider each question as an independent situation.

* 44. The partners share net income in the same ratio as the beginning balances of

      their capital accounts.  If the net income is $114,000, how should it be divided?




Snoopy
Sneezy

Dumbo

A.

$38,000
$38,000
$38,000


B.

$28,500
$39,900
$45,600


C.

$39,900
$45,600
$28,500


D.

$28,500
$45,600
$39,900


E.
     $153,333    $153,333     $153,333

45. If the net income of the partnership is $174,000 and the partnership agreement


does not state how net income is to be divided, how should the net income be


allocated to each of the partners?




Snoopy
Sneezy

Dumbo

A.

$38,000
$38,000
$38,000


B.

$28,500
$45,600
$39,900


C.

$58,000
$58,000
$85,000


D.

$43,500
$69,600
$60,900


E.

$58,000
$58,000
$58,000

46. The partners Snoopy, Sneezy, and Dumbo share net income based on the amount 



of time they spend working in the business, which is expressed as 5:2:3



respectively.  If the net income is $144,000, how should net income be divided?




Snoopy
Sneezy

Dumbo

A.

$48,000
$48,000
$48,000


B.
     $144,000
     -0-

     -0-


C.

$72,000
$28,800
$43,200


D.

$36,000
$57,600
$50,400


E.

$43,200
$28,800
$72,000

Group 8
Westover Co. operates in a city that imposes a property tax on real and personal property.  The city tax rate for both types of property is 1.2%.  Westover has the following asset information.

	Asset
	Original

 Cost
	Accum.

 Depr.
	Fair

 Market

 Value
	Replace-

ment

 Value
	Assessed

Value

	Building
	700,000
	192,500
	750,000
	975,000
	680,500

	Land
	50,000
	0
	93,500
	120,000
	85,000

	Furniture
	265,000
	106,000
	235,750
	300,000
	212,500

	Equipment
	525,000
	150,000
	522,500
	680,250
	475,000

	Corp. Jet
	1,000,000
	200,000
	1,045,000
	1,350,500
	950,000

	Vehicles
	425,000
	121,428
	352,000
	458,600
	320,000


For questions 47 through 50, write the identifying letter of the best response on your answer sheet.

47. When the property tax billing statement is received and Accounts Payable is 

       credited, what account is debited?


A. Cash in Bank



C. Property Tax Expense


B. Depreciation Expense
D. Plant Assets Expense

48. What is the amount of property tax attributable to the real property?


A. $1,020

E. $9,186


B. $6,690

F. $10,122


C. $8,166

G. $13,140


D. $9,000

* 49. What is the amount of property tax attributable to the personal property?


A. None, because by definition personal property for property tax purposes is



not taxed.


B. $5,700

F. $25,863


C. $19,651

G. $26,580


D. $20,940

H. $32,676


E. $23,490

I.  $33,472

50. Which of the following statements is false?


A. Assessed value is usually based on the judgment of persons referred to as



assessors.


B. Assessors are elected by citizens or are specially trained employees of a



governmental unit.


C. The taxpayer may pay property taxes based on the assessed value or the book



value whichever is less, provided the taxpayer can show evidence of the book



value.


D. Often the assessed value is only a part of the true value of the asset.

Group 9

Sunray Co. reported the following financial data for three successive accounting years. 

	
	2006
	2007
	2008

	Net Sales
	42,760
	56,920
	61,140

	Beginning Inventory
	12,610
	15,520
	14,240

	Net Purchases
	28,464
	36,762
	33,877

	Cost of Merchandise Available for Sale
	41,074
	52,282
	48,117

	Ending Inventory
	15,520
	14,240
	16,140

	Cost of Merchandise Sold
	25,554
	38,042
	31,977

	Gross Profit
	17,206
	18,878
	29,163


In 2009 a review of the physical inventory computations disclosed that the following mathematical errors were made:
	Year:
	Error in Determining

Ending Inventory:

	2006
	overstated $2,240

	2007
	understated $1,650


On your answer sheet for questions 51 through 53, write the correct amount of gross profit for each year.

51. Year 2006

* 52. Year 2007

* 53. Year 2008

For questions 54 through 61, continue to use the information above.  On your answer sheet write YES if the answer is yes; write NO if the answer is no.

54. Do the inventory errors cause cost of merchandise sold to be wrong in any of the


years?

55. Do the inventory errors cause cost of merchandise available for sale to be wrong in


each of the years?

56. Before the inventory errors are corrected, is the gross profit percentage for 2006


equal to 40.2%?

57. Does the sequence of inventory errors in 2006 and 2007 cause the ending inventory


for 2008 to be overstated by $590?

58. For 2007 was the gross profit before the errors were corrected less than the gross


profit after the errors were corrected?

59. After both inventory errors are corrected, are the correct gross profit percentages as 


follows:  2006—35%; 2007—40%;  2008—47.7%?

60. Did the inventory errors cause the 2007 beginning inventory to be understated and


the 2007 ending inventory to be overstated?

61. If the only error in the three years had been the overstatement of ending inventory in 


year 2006, would the gross profit in 2007 be overstated as well?

Group 10

The Baylor Co. uses the periodic inventory system and takes a physical inventory on the last day of each month.  

The Baylor Co. experienced a total loss due to a fire on November 12, 2008.  Now Baylor Co. must provide to their insurance company evidence of the estimated cost of the inventory lost.  Fortunately, the company electronically transmitted all of their accounting data to an off-site server on a daily basis.

The off-site server provided the following data for the year-to-date ending October 31, 2008 and for the month of November through the 11th day.

	
	1-1-08

 through

 10-31-08
	November 1 through

 Nov. 11, 2008

	Sales
	152,675
	7,639

	Sales Discounts
	2,615
	229

	Sales Returns & Allow.
	4,580
	130

	Beginning Inventory
	23,670
	                      ?

	Purchases
	96,112
	4,805

	Purchases Ret. & Allow.
	3,194
	160

	Purchases Discounts
	3,680
	185

	Transportation In
	6,289
	315

	Ending Inventory
	24,635
	                      ? 


For questions 62 through 69, write the correct amount (or percentage as in Question #68) on your answer sheet.

Answer questions 62 through 67 based on the first ten months of the year.  What is the amount of…

62. net sales

63. cost of merchandise available for sale

64. net purchases

65. cost of delivered merchandise

66. cost of merchandise sold

* 67. gross profit on operations

68. What is the percentage of gross profit on operations for the first ten months?

* 69. What is the estimated ending inventory destroyed by the fire?

Group 11

Refer to Table 1 on page 11.  For questions 70 through 80 write the identifying letter of the best response on your answer sheet.

70. The amount to be reported for beginning inventory in the Cost of Merchandise Sold


section of the income statement


A. cannot be determined until the inventory costing method is chosen for 2008


B. depends on whether the lower-of-cost-or-market rule will be applied to 2008


C. is $222.40
D. is $224.00
71. The number of flash drives purchased in 2008 was


A. 56             B. 59             C. 115             D. 117             E. 125

72. The cost of merchandise available for sale for 2008 was


A. $3,256.60     B. $3,276.00     C. $3,478.75     D. $3,479.00     E. $3,500.00

73. If the company used the FIFO method, the cost of ending inventory would be


A. $222.40      B. $278.60      C. $280.00      D. $282.90

* 74. If the company used the LIFO method, the cost of merchandise sold would be


A. $222.40     B. $278.60     C. $280.00     D. $282.90     E. some other amount

75. If the company used the specific identification method, the cost of ending inventory

     would be


A. $222.40     B. $278.30     C. $278.60     D. $280.00     E. $280.70     F. $282.90

* 76. If the company used the average cost method, the gross profit would be


A. $2,440.55     B. $2,440.85     C. $2,442.25     D. $2,442.95     E. $2,445.15

* 77. Disregarding the lower-of-cost-or-market rule, which inventory costing method would


result in the highest gross profit for 2008?


A. FIFO        B. LIFO        C. specific identification        D. average cost

** 78. If the computer store followed the lower-of-cost-or-market rule, the cost of the 



ending inventory that appears on the financial statements would be the market 



value of $280 if either of the following inventory costing methods were used in 2008:


A. LIFO or average cost



D. FIFO or specific identification


B. LIFO or specific identification

E. FIFO or average cost


C. LIFO or FIFO




F. average cost or specific identification

79. It is common for businesses that sell a small number of items with high unit prices to


use which of the following inventory costing methods?


A. FIFO        B. LIFO        C. specific identification        D. average cost

80. A business must know the cost of inventory in order to


A. prepare financial statements



C. pay property tax on the inventory

B. purchase insurance on the inventory

D. all of the above
This is the end of the exam.  Please hold your answer sheet and exam until the contest director asks for them.  Thank you.
Table 1
(for questions 70 through 80)

A computer retail store has the following data for a specific USB flash drive.    During the year 56 flash drives were sold for $44.95 each and 59 flash drives were sold for $52.95 each.  The market value of the flash drive in the wholesale market as of 12-31-08 is $28 each.   

The company uses the periodic inventory method.  The company prepares adjusting and closing entries only at the end of the fiscal year, which is Dec. 31.  The company prepares financial statements annually.

	
	
	Number of

Units
	Cost per Unit
	

	1-1-08
	Beginning Inventory
	8
	27.80
	

	Feb
	Purchase
	3
	28.10
	

	Mar
	Purchase
	30
	27.60
	

	May
	Purchase
	31
	28.15
	

	Jun
	Purchase
	40
	27.60
	

	Aug
	Purchase
	7
	28.25
	

	Sept
	Purchase
	4
	28.30
	

	Dec
	Purchase
	2
	28.35
	

	
	
	
	
	


The flash drives on the shelves were counted on 12-31-08.  There was no theft loss because each package includes an anti-theft device that would sound an alarm if taken out of the store unless deactivated by a sales clerk.  The physical inventory included the following information obtained by scanning the bar codes on the packaging of the flash drives still on the shelf:

	Month Flash Drive Was Purchased
	Quantity

	June
	3

	Aug
	5

	Sept
	1

	Dec
	1

	
	


